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A crocheted doughnut
A crocheted doughnut measuring 6.5 cm in diameter.  Crocheted using 8/4 cotton yarn and a 3.0 mm 

crochet hook. The sprinkle is embroidered with 8/4 cotton yarn. The mouth is embroidered with Harmony 
embroidery floss. Wooden beads (5 mm diameter) are used for the eyes. The keyring with a snake chain is 

sewn on with 8/4 cotton yarn.

Doughnut: 
Use a 3.0 mm crochet hook.

1. Crochet 22 ch and make a magic circle with 1 sl st (22)

2.  1 ch * 1 dc, 2 dc in the next st *. Repeat from * to * a total of 
10 times, finish with dc (33)

3.  33 dc (33)

4.   * 2 dc, 2 dc in the next st *. Repeat from * to * a total of 10 
times. Finish with dc (44)

5-11.  44 dc (44)

12.   * 2 dc, 2 dc together in the next st *. Repeat from * to * a total 
of 10 times. Finish with dc (33)

13.  33 dc (33)

14.   * 1 dc, 2 dc together in the next st *. Repeat from * to * a total 
of 10 times. Finish with dc (22)

15.  22 dc. Finish with sl st (22)

Bind off and leave the yarn long. The yarn end will be used for 
sewing the doughnut together. 
Fill with polyester wadding as you go along whilst sewing the 
doughnut together.

Icing: 
1.  Crochet 22 ch and make a magic circle with 1 sl st (22)

2.  1 ch * 1 dc, 2 dc in the next st *. Repeat from * to * a total of 10 times, finish with dc (33)

3.  33 dc (33)

4.  * 2 dc, 2 dc in the next st *. Repeat from * to * a total of 10 times. Finish with dc (44)

5.  44 dc (44)

6.  1 dc, 4 ch, 1st ch is a turning chain (tch), 3 htr in the next 3 ch, 1 sl st in the next dc.

 4 dc, 6 ch, the 2 ch are turning chains (tch), 4 tr in the next 4 ch, 1 sl st in the fourth dc.

 5 dc, 4 ch, 1st ch is a turning chain (tch), 3 htr in the next 3 ch, 1 sl st in the next dc.

     4 dc, 7 ch, the 2 ch are turning chains (tch), 5 tr in the next 5 ch, 1 sl st in the fourth dc.

     2 dc, 3 ch, 1st ch is a turning chain (tch), 2 htr in the next 2 ch, 1 sl st in the next dc.

     5 dc, 5 ch, 1st ch is a turning chain (tch), 4 tr in the next 4 ch, 1 sl st in the third dc.

     3 dc, 3 ch,  1st ch is a turning chain (tch), 2 htr in the next 2 ch, 1 sl st in the next dc.

     4 dc, finish with sl st, bind off.

Embroider sprinkles on the icing. Sew the icing onto the doughnut.

Abbreviation and symbol explanation:
st = stitch
ch = chain
sl st = slip stitch

dc = double crochet
htr = half treble
tr = treble


